BhiRERER) N =

400mfE EFSYIIERERBY LT VD TITEFET LY !

205 +HAREHS 7 +2057 =45%

2025%9H21H

e %fE 8:40~9:10 AL =7

Ne| Bitn | #7T ot B F— L B/ R—ILs—Yy
119:3010:15 ZEB$ (0-60) VS IS =7 (0-60) Jt3A FC (0—60)
2 [10:20[11:05 Z BFCOB (0-60) VS JEiRIAFC (0-60) | FNFkILS =7 (0-60)
3 [11:10/11:59| #grLs =7 (0-50) |VS % SC (0-50) Z BFCOB(0-60)
4 112:00( 12:45 = B 1,45 (0-60) VS AL ATFC (0-60) 32 SC (0-50)
5112:50{13:35 VS #ESC (0-50) = R %5 (0-60)
6 [{13:40(14:25 RARBEFC (0-50) VS AL =7 (0-50)

7 114:30|15:15| #3rlus =7 (0-60)| |VS Z EFCOB(0-60) IR ARBEFC (0-50)
8 [15:20|16:05 I EREEFC (0-50) VS I =7 (0-50)

RAEHIRIEREAEDF—LIZT,. CHALALLBRELLET,




